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111- It was so crowded that I had to stand in the meeting last night. There was no ...... seat
over there.
1) vocation 2) vacant
3) vacancy 4) vacation

112- Economists believe the biggest challenge in an economy is that resources are ..........
not abundant.

1) scarcity 2) scared
3) scarcely 4) scarce
113-To our surprise, our names were.............. from the list of participants. Therefore, we
could not attend the meeting.
1) eliminated 2) added
3) registered 4) permitted
114-The general manager asked his secretary to .......... the agenda among the audience
before the conference formally started.
1) circular 2) circus
3) circulate 4) circulation
115-Im ceveinnnnnns banking, all sorts of banking services are provided for customers.
1) corporate 2) universal
3) retail 4) global
116- This ratio measures the efficiency of a business assets in generating revenue.
1) asset capacity 2) asset value
3) asset turnover 4) asset coverage

117- The cost of using sources for a certain purpose which is measured by the benefit lost by
not using them in their best alternative is called ............... .

1) variable cost 2) opportunity cost
3) fixed cost 4) alternative cost
118- Our company has always been ........... since its assets equal its liabilities.
1) solvency 2) resolve
3) solve 4) solvent
119-To secure the repayment of loans, banks take heavy ........... from borrowers.
1) colloction 2) collateral
3) collaboration 4) collection

120-In an unstable economic situation, doing business is very difficult because prices
............ very frequently.

1) variety 2) various
3) flowing 4) fluctuate

121- It is the process of reducing value of an asset to zero over a certain number of years.
1) Depreciation 2) Appreciation

3) Deduction 4) Reduction
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122- When two companies combine to form one new company, it is called a ............ .

1) holding 2) combination
3) merger 4) composition

123- All stocks, shares and bonds can collectively be called ............ .
1) gilts 2) securities
3) equities 4) promissory

124- The system has been designed to give the user quick and easy ..... to the required data.
1) accept 2) alternative
3) document 4) access

125-They have devised a model that can be used to ........ the risk of bank failures on a
timely basis.
1) benefit 2) evaluate
3) schedule 4) injure

126-To .......... the quality of their services, they employed some younger, more enthusiastic
clerks.
1) enhance 2) remove
3) network 4) cooperate

127- ceeennee. income and increasing expenses meant that the working class could no longer
afford to even lead a normal life.
1) Diminishing 2) Equating
3) Compensating 4) Implementing

128- He rose quickly through the organizational ......... to become the bank's chief
executive officer.
1) commodity 2) infrastructure
3) incentive 4) hierarchy

129-The private .......... is a key stakeholder in both urban and economic development,
being a major contributor to national income.
1) index 2) sector
3) scope 4) partner

130-The company said the debt was ............ during its acquisition of nine individual
businesses.
1) fluctuated 2) accumulated
3) violated 4) undergone

131-The payment is credited to the---------------------- 's account in case he offers a
suitable means of identification.
1) repossession 2) transaction
3) beneficiary 4) monetary

132- One of the central features of the industrial revolution was a dramatic increase
IN-----m-mmom - production.
1) vice versa 2) et cetera

3) vis-a-vis 4) per capita



133-An effective manager must be able to---------------------- conflict, whether between
individuals or groups.
1) delegate 2) install
3) resolve 4) achieve

134-Before starting the project, a study must be done of its--------------------- . Can they
run it?
1) feasibility 2) sterility
3) emotionality 4) accountability

135-Standards of performance in revenues and costs must be properly
and well-defined.
1) overstated 2) invested
3) deviated 4) determined



